
Horizontal multiplication

Math in English

Multiply the following numbers

6 305 =× 10 10 =× 10 2 =×

1 5 =× 8 10 =× 5 3 =×

6 10 =× 7 5 =× 9 10 =×

5 5 =× 9 5 =× 5 10 =×

3 10 =× 4 10 =× 2 5 =×

4 5 =× 7 10 =× 1 10 =×

10 5 =× 0 10 =× 8 5 =×



Horizontal multiplication

Math in English

Multiply the following numbers

6 305 =× 10 10010 =× 10 202 =×

1 55 =× 8 8010 =× 5 153 =×

6 6010 =× 7 355 =× 9 9010 =×

5 255 =× 9 455 =× 5 5010 =×

3 3010 =× 4 4010 =× 2 105 =×

4 205 =× 7 7010 =× 1 1010 =×

10 505 =× 0 010 =× 8 405 =×


